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% F A~ — 2 i |3 IREFE] 900 M| 30% 2,997 H| 50% 1, 499 > 1, 350
(FEEMMHY) | & | 4 F 1,200 | 30% 999 H 3,996 [ 50% 1, 998 > 1, 800
| 4 R 1,200 M| 30% 3,996 M| 50% 1,998 > 1, 800
(175 nf)| &0 | 11 B 3,000 3| 27% 10,989 FI|  50% 5, 495 > 4, 500
% F A~ — 2 PR3 WER 800 FI| 29% 2,757 H|  50% 1, 379 > 1, 200
(EHEFM2RL) | 4% | 4 B 1,100 M| 30% 919 11 3,676 M| 50% 1,838 > 1, 650
| 4 W 1,100 M| 30% 3,676 M|  50% 1,838 > 1, 650
(161 nf)| &0 | 11 B 2,700 F| 27% 10,109 3|  50% 5, 055 > 4, 050
S 1 PR 3 WER 250 F3| 28% 909 M|  50% 455 > 375
P | 4 R 300 3| 25% 303 1] 1,212 [ 50% 606 > 450
| 4 R 300 3| 25% 1,212 M|  50% 606 > 450
(53 nf)| &0 | 11 B 800 | 24% 3,333 M| 50% 1, 667 > 1, 200
A 2 PRI |3 R 250 3| 30% 822 M|  50% 411 > 375
AL 300 3| 27% 974 I 1,096 |  50% 548 > 450
| 4 W 300 3| 27% 1,096 |  50% 548 > 450
(48 nf)| &0 | 11 B 800 | 27% 3,014 M| 50% 1, 507 > 1, 200
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% F A= 2 i |3 R 1,500 F| 50% 2,997 M| 70% 2,098 < 2, 250
GEEEMMADY) | Tr | 4 K 2,000 F| 50% 999 H 3,996 [ 70% 2, 7197 < 3, 000
| 4 W 2,000 | 50% 3,996 H 70% 2,797 < 3, 000
(175 nd)| &0 | 11 BER 5,500 3| 50% 10,989 H 70% 7,692 < 8, 250
% H A~ — 2 R |3 B 1,350 M| 49% 2,757 H 70% 1, 930 < 2,025
(KEEFMARL) | Fe | 4 Wi 1,800 M| 49% 919 1] 3,676 H 70% 2,573 < 2, 700
| 4 W 1,800 M| 49% 3,676 H 70% 2,573 < 2, 700
(161 ni)| 40 | 11 KR 4,950 M| 49% 10, 109 H 70% 7,076 < 7,425
AR 1 PR3 B 400 M| 44% 909 H 70% 636 > 600
ik | 4 W 550 [| 45% 303 [ 1,212 [ 70% 848 > 825
| 4 B 550 F3| 45% 1,212 [ 70% 848 > 825
(53 nf) | &0 | 11 B 1,500 M| 45% 3,333 1 70% 2,333 > 2, 250
S 2 PR | 3 B 400 M|  49% 822 H 70% 575 < 600
Ptk | 4 KR 550 3| 50% 974 11 1,096 [ 70% 767 < 825
R | 4 W 550 | 50% 1,096 M 70% 767 < 825
(48 o) | 4xH | 11 BERE 1,500 M| 50% 3,014 [ 70% 2,110 < 2, 250
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1, 350 45%
1, 800 45%
1, 800 45%
4, 500 41%
1, 200 44%
1, 650 45%
1, 650 45%
4, 050 40%
350 39%
450 37%
450 37%
1, 200 36%
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1, 200 40%
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2,100 70%
2,800 70%
2, 800 70%
7, 700 70%
1, 950 71%
2, 600 71%
2,600 71%
7,100 70%
600 66%
800 66%
300 66%
2,200 66%
600 73%
300 73%
800 73%
2,200 73%
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